
IG941−8A, 81

Farbmetrische Transformation i = 7
c*i  = c*7  = a c*b mit a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*7



IG941−8A, 82

Farbmetrische Transformation i = 7
c*i  = c*7  = a c*b mit a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*7



IG941−8A, 83

Farbmetrische Transformation i = 7
c*i  = c*7  = a c*b mit a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*7



IG941−8A, 84

Farbmetrische Transformation i = 7
c*i  = c*7  = a c*b mit a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*7



IG941−8A, 85

Farbmetrische Transformation i = 7
c*i  = c*7  = a c*b mit a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*7



IG941−8A, 86

Farbmetrische Transformation i = 7
c*i  = c*7  = a c*b mit a = 0,00; b = 1,00

rgb −> cmyn* cmyn* −> cmyn*7


